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BF—#& PRI

AJOwy DJOv%y

&1 (FTE) 1 2 3 4 | BSBRR | MR &1 (@) 12 13 14 | B8 | NBGZ
1 [E)I-#%#% (ATC) - 64 | 63 | 2-0 1 12 [#&-LF (ATC-2')—) 64 60 | 2-0 1
2 - - - 13 |[FE-BEX (HLYAIL) 46 60 | 1-1 2
3 |E#E-KJIl (Ken’ spHsys) 46 - 16 [ 02| 3 14 |(BRT-BFH (TY—) 06 | 06 0-2 | 3
4 N&E-F5 TYV-) 36 - 61 1-1 2
B OvY EJOvY

&30 (FTE) 5 6 7 8 | BB [ MR &1 (FiE) 15 16 17 | B8 | NEfZ
5 |=L£-EA (FT.0) - 61 61 | 2-0 1 15 |RA#-F L (FT.C-TY—) 16 36 | 0-2 3
6 - - - 16 [=H- g (3Y)—) 61 36 | 1-1 2
7 |BAR-EAK (NST) 16 - 62 | 1-1 2 17 |Z%-8% (RAR—2-71—)| 63 63 2-0 1
8 [/MEWL-FH (REO—>-T1)—)| 16 - 26 0-2 3
coyy Fovy

&30 (FTE) 9 10 | 11 | BB | IEfL &1 (@) 18 19 | 20 | BHER | NEfGZ
9 |RH-FEE (NAA-TY—) 60 | 60 | 2-0 | 1 18 XX -Hik (T'U—) 63 | 62 | 2-0 | 1
10 |BRIF-HIE (ATA) 06 16 | 0-2 | 3 19 AR -FRE (BREAO—>-71)—) | 36 64 | 1-1 2
" |mx-B5 V) 06 61 1-1 2 20 |MS- Nk (F1)—) 26 46 0-2 | 3




SF—# TE—TB

G7avy

&1 (FTE) 21 22 23 | RBRR | IEfL
21 |KHE-{E8 (47T714—) 16 64 | 1-1 2
22 |%5H-% (MAGICS) 61 65 | 2-0 1
23 |EmAR-5Hl (Ken'spEHE-7')—) [ 46 | 56 0-2 | 3
HZOvy

&30 (FTE) 24 | 25 | 26 | BB | NEM
24 |}AU5-FLE (ATC-DY)—) 65 56 | 1-1 2
25 |f#-%R (ATA) 56 3 | 02| 3
26 (HJIl-E=H (2')-) 65 63 2-0 1
7avy

&30 (FTE) 27 | 28 | 29 | BB | IEM:
27 |%#f-HE (FT.0) 16 61 | 1-1 2
28 | ARHA-FH (F£J-7U—) | 61 63 | 2-0 1
29 [(AIE7- AL KRT=RH57) 16 36 0-2 | 3

J70vsy

&1 (@) 30 | 31 32 | R | IEfHL
30 |F OBk (R)LE2—) 64 62 | 2-0 1
31 |FEE-EZE (FT.0) 46 3 | 02| 3
32 |LE-KH# (ERERBILKRT)| 26 63 1-1 2
K7awv%

&7 (FiR) 33 | 34 | 35 | BEK | NEfI
33 |&F- ik (RAQ—>-F.T.0) 60 | 36 | 1-1 2
34 |FHER-FAK (1)) 06 3 | 02| 3
35 |RIHE-FEF (7)) 63 | 63 2-0 | 1
L7ovy

&1 (FiR) 36 | 37 | 38 | BEK | JEfI
36 |&iHE-E Bk -7ROa—Xk) 46 60 | 1-1 2
37 |’ALL-{fE5k (MAGICS) 64 62 | 2-0 1
38 [Stuart-ZH# (Wendy’s) 06 26 0-2 3
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=1 - BE#X (ATC)

ARHA-FH (F£J-T)—) —

B)Il-=[/ (TY)-)

EE-A% (RAO0—-21)—) ——

FO-BBA NILEa—)
BAR-LF (ATC-TV)—)
TH-FRE (NAA-T1)—)
HIfE - T % (T —)
K-k (FY—)

% H -5 (MAGICS)

J#LL -85k (MAGICS)

=*t-E3 (FT.0)

64
62
75
64
61
62
76(3)
63
62
[ 62

61

BF—& 2L b—F AVt

10

11

12

nN&-%§ Q-
4t (F1.0) —

W& - E (ATC-D1)—)  ——

= - Wi (7)) —

Wi - K H (BREREAKRE) —

FEEKR (HLFAIL)
WKR-EZE (TV-)

EF-MNiE (FKAO—> F.T.C) m—

nAR-Fg (FgEO—>-71)—) —

XHE-#6H (T47T714—2) ——

ERE- R (hBR- 7RO —X ) —

BAR-EAK (NST)

76(2)

75
| 76(4)
64
64
| 75
60
63
63
62
| 61
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11

12

13

14

B KJIl (Ken’ s H-sys)

Bye —

B R (ATA) —

ML FTC-IU—)  ——

AEF-fLIL (KRT=R95T) —

fRE-EZE (FT.0) —

He-amH#H 0)-) —

fRiZ-H1E (ATA) —

FH-#HAR (TU-) E—

Stuart-FH# (Wendy’ s)  —

A &+ Ik (J')—) —

BEAK-5H (Ken’ sREH 7' —) ——

Bye EE—

MEL-FHF (RBRA—2-DY)—)

62
61
64
62
60
61
60
60
63
| 64




BFHE PRI

BFEE JECIRER

=0 1462)—5

£ (FifE) 1 2 3 4 | BHER | NEfZ £ (FiE) A B C | BB | NEfz
1 |#k-E+ (FT.C-NST) 65 62 46 | 2-1 2 A |FFHE-M (TY—) 64 26 | 1-1 2
2 |1BR-FOY-) 56 60 | 56 | 12| 3 BE-ILE (F47T714—) 46 26 | 02| 3
3 |FhoT-ERiIR (ATA) 26 06 06 | 0-3 4 C |iBH-LH TU-) 62 62 2-0 1
4 (FFHE-#M (TY)—) 64 65 60 3-0 1
BIOvY 261)—5

£71 (FifE) 5 6 7 8 | MHER | NEfL &1 (FiE) A B C | BB | NEfz
5 [@E-ILA (47T714—>) 60 61 61 | 3-0 1 A |#-EF (FT.C-NST) 62 62 | 2-0 1
6 |EBRIX-EHF (TY)-) 06 16 | 06 [ 0-3 | 4 2FH B (Y =F7-71—) 26 64 | 1-1 2
7 |#ask-EEll (BREBO—Y) 16 61 26 | 12| 3 C (WA-EH (FZJ) 26 46 0-2 | 3
8 |BEF-mAUY=T7-71—) 16 60 | 62 2-1 2
coyy 34 b—F A

&30 (FTE) 9 10 [ 11 | BB | IBGL A3 BHE-F TY-)
9 (WWA-HH (FEY) 16 | 62 | 1-1| 2 B4 #RIFE-HH (T71)—) 61
10 |i@F- LA (TU—) 61 61 | 2-0 1 C3 BfF-&F (RAL—) — —57
1 |SE-2F (REO—) 26 | 16 -2 | 3 A4 FHTT-ERIZ (ATA) — 6l

B3 kB (REA—) 62




RF—ik PRI

ATOvs DIov?
&1 (FTE) 1 2 3 4 | BSBRR | MR &1 (@) 11 12 13 | B8R | MBIz
1 [[Eil-85K (FT.0) 60 | 60 | 63 | 3-0 1 1 [=k-1&f& T0YU—) 62 60 | 2-0 1
2 |EH-E§H (FU-) 06 60 16 | 1-2 3 12 |Z=K-)I (BRAR— 1) 26 61 | 1-1 2
3 |EB-BIR (T4974—2) 06 06 06 | 0-3 4 13 [/MNG-5K[E (ATA) 06 16 0-2 3
4 |HIHE-Wendy (ATA-Wendy’ s) 36 | 61 60 2-1 2
EJOavY
&1 (FTE) 14 15 16 | BsEX | NEMZ
BIOvY 14 |#HE- BB O\ FRRATYL2-TTO) 60 60 | 2-0 1
271 (FifR) 5 6 7 | BR[| NEMZ 15 |#&Bk-/N & (ATA) 06 63 | 1-1 2
5 |&#-BIR (NST) 61 60 | 2-0 1 16 [#8)11- 548 (Ken’ sRkH-21)—) | 06 | 36 0-2 | 3
6 |BRIX-EB (ATA) 16 06 | 02| 3
7 |&F-E OY-) 06 60 1-1 2 FJovs
&1 (FTE) 17 18 19 | BB | NEfGZ
17 |=45-3iL)ll (F.T.0) 61 61 | 2-0 1
cravy 18 [FiEg- &2k (T0')—) 16 46 | 0-2 | 3
&1 (FTE) 8 9 10 | BB [ NRMs 19 [EFE- 75 (My tennis) 16 | 64 1-1 2
8 |2%-BH (REA—) 60 | 60 | 2-0 [ 1
9 |EMA-thAE (»YoRO—K-7Y—)| 06 26 | 0-2 3 G7avyy
10 |#6AK-FH (F.T.C-7Y—) 06 | 62 1-1 2 &1 (@) 20 | 21 22 | BHER | NELGL
20 |EMA-EE (T')-) 61 60 | 2-0 1
21 |E£-0—/8— (NAA-TY—) 16 63 | 1-1 2
22 | KW -HH (Ken’ s H) 06 36 0-2 3




TF—& 16 b—F Ak

D -#K (FT.C) —_—

Bye —

B -BE \FRKRATYL2-TTC)

= k457 (F)—) —

E%-5H (AA—) —

64

=+-3L)Il (F.T.C)

EH-EX (TY-) —_—

60

63

63

EH-EER (NST) —

63

TF—M 3L b—F Ak

2H-=8 (9U-) —

RIZ-EA (ATA) —

BEE-thE (YO0RO—K 1) —) —

62

62

NS =K (ATA) —

) -54E (Ken sptE-DV)—) ——

63

xig-i=gk (0U-) —

KA -BF (Ken’ spitH) —

63

63

62

EDGRR (J49T74—Y) ——

62

W.O.

TF—H& 26ib—F Ak

HIE -Wendy (ATA*Wendy’ s)

Bye —
%/ IR (ATA) —
ERK-H (REA— ) —

#/A-FEH (FTC-I—) —

JE[E] - {FE (My tennis)

E&-0—/\— (NAA- 1) —) ——

BE-EY (7)) —

75
62
63

62
63

63



